QoW PYNT NROXN

VR RPAT
65 2w 0.18 :awn
65 X 0.18 = 11.7

: 3 BERT
IVOR TR WTIND .Q°WTIA 3 W3 0990 300 NIORY R¥Y 2Y 1232 1 NN
.0°79077 0.38 190K *IWN WTINI .0°98077) 0.29 DY 1NRPNN
MWRIT WTINI 1DOR 000 M0 (X
TIWN WTIND 1DOR 000 7D (A

nnan rielah] R0
oo 300 1 o' n0 92

1DORY O°180

300 X 0.29 = pmoo 87 0.29
NWRIT TN
DORYW QB0 | -
300 X 0.38 = oo 114 0.38 ;
W wnna
Mne.1
3 X
30.25w 0.18 200 Hw 0.04
26.1 9w 4.25 36 YW 0.15
W\zm Sw 1.7 20 5% 1.5
0.8 5w 0.2 10 5w 2.02
4.85v 0.2 40 Bw 0.7

J317 2Yw prannn 0.8 72y Y01 1AM 2P 0.95 W PR Nay a2
DY MAY pATN PR




oW NXYYN

e Batrrht
72 Of 1397 0.18 DR DPWN DR K32
72 :0.18 = 400

-BateP )t
7w 11773 9973 ,10hmn 0.2272 PN T3
251 238% I%NAN "Nk A A

s =
? it~y ity - Ay |
G — i

l 0.22 nldahh
- : : — ]
* nw 117 | —0.22=0.78 | T0A1 MK TR TR
— ==
e 117 1 0.78 = e 150) 1 Toman 2187 THEA YN

WR 0w DR X3 L1

18.75 D7 WM ) 7.5 07 MR 0.15 X ?
EWE LRI TN, 14 D7 1AM 0.4 .3
8+ onumm 2.2 .0 8.4 07 1A 0.012 .3
23.25 o0 UMBE 0 38.400 AN 1.2 .7
33.7500 UM 1 2 3207 1M 1.6 .0

AN1INa 1A MnY3s 9omn 0.15 DAw ,NIN9Y 90 7R Mo .2
MNAIN3 170 MDY And

=7 npn 0.22 9w N3N AnNRY DRN A7w 58572 17om1 At .3
2037 KDY MIN0N ME N

7 Amn 0.35 5w MNPPRA NKRY DRN 1YW 607.573 772801 AMN0 4
MPINT RO 7MINDN NN N

31




abwnn pPon NRYXA

Rai~hhn
7R3 .7800R 25% 27 19072 20% 132 AR NRY? .07y 360 1202
WIPY 7 1Y QOINY

jabicb-ha ety RN
ooy 360 100% 9502 o TIMYA 93
20% X 360 = oy 72 20% 92133 ARTP
25% X 360 = omny 90 25% 27Y32 BRAP
360 — (72 + 90) = oy 198 55% 1IR3

1MIK X5 Y30 MM 723 3w MM 6800 TR HYD Ny nean naa Ll
220%=3 INTIAY 77D DR PTA OR 23D

5apY TWOR Mnp M .AbpwaR 23% NUANA AT0ON NYNR M M1 .2
MmN 3P 200072

123y 37 40.5 139K D2 ,N1°32aY 072 OU1AR 4RI mp"® nma .3
AT TIRWI PPV DRINDP A1 .mndn 21 35% 1707 a0 23189

12% gQnoT T°05m 11°A7 MW .OnS MY 1200 OY 23 07D ongh Ronma 4
ORD Sw MIRD R LWINN 19Pwan 20% T°001 790w NAIYe 12pwnn
o 8 IR NYAPNN TANVR

1My PAWR3 7I'NAR NR .o 7°RPn 35 - 2/1 001 oTnbn40-110n02 .5
w1 DTSR AR .2/ AN YT HPnn 80% 1 1/1.7N02 Y1n7nn 85% no3na
M0 Nw3a

.36 950MIN 17% AN1NHR 1902 K32 WX
.15 75017 23%"2 217A% 1902 X322
.20 701N 45%2 JOPT 120% K32 .2

.40 790RAE7 35% 2 NTAN 1901 R¥2 .7

37



-

npin

3pPr BRI R AP LI

(0.2)° = 0.2 X 0.2 X 0.2 = 0.008 Fbi~ba

3 3x3_ 9
GT_)Z =Tx71= 49
1v2 _ 92 _ 9%9 _ 8 _ o1
(ZT)Z“(T)Z—a;xq‘E"sls
a1 R |
(2.3)%; (0.14)*; (0.02)%; (0.3)}; (0.5)3; 0.1*; (1.3)?
133, (2va, (8y2, (313, (12\2. (32, 41
6P ' P @ 1P 2P )
AWN2 MIYHR 70 IR IO
MO M2°N (2 P12 90 (3 MpIn (R
el kb ]
(0.47 + €)2 X 100 = 0.16+ 5 x 10 = 0,16 + 36 = 3616
Y NYe

(0.4 = 0.4 X 0.4=0.16 (X

3y2 _ 3x3_ 9
(_5') “‘5><5‘25(:l

e L2
(1.6)+ (0.9 .7 (0.57 + (15)* x 6 =X
(0.08)* X (10)° + €)% .n L& x 131 4032 2
(0.2)% X 100 + 300 X (0.4)% .3 6:(0.1 —5: ) a

23




